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2-2 Binomial Theorem
(Book 6-3 pgs. 341-344)

Objectives: (BX'\' \>7

[ can apply the binomial theorem to expand
binomials

I can calculate coefficients of a expanded binomials
utilizing patterns from Pascal’s triangle

Expand:
(a+b)" for n=1,2,3,4, and 5

See if you can discover and
patterns for exponents and
coefficients
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|dentify the patterns in the expanded form of

(a+bim?
The exponents of a staaitr\ and [increas by

each term.

The exponents of b start atO andecrease] by —— ﬂ-

each term

The sum of the exponents are I ) in each term.

The coefficients are the same as row n in Pascals triangle.
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Calculator Short-cut: Pg. 343

(x+y)
Step 1 Use a calculator to determine the values of ,C,, ;C,, ;Cs, ;Cs, ;Cy, 7Cs, ;Cs, and ,C;.

Step 2 Expand the power as described by the Binomial Theorem, using the values of ;C,, ,C,, ;C,, ;C, ;C,,
,Cs, ,Cs and ,C, as coefficients.

(x+y)'= xy'+ xy+ x -y + x -y

+ x y + x y + x oy + x -y
Step 3 Simplify.

(x+y)'=x + X y+ x oy + x -y + Xy

+ xy+ xy+y

Using Binomial Theorem to Expand pg. 343

(x—2)°
Step 1 Identify the values in row 3 of Pascal’s Triangle.
1,3,3,and 1

Step 2 Expand the power as described by the Binomial Theorem, using
the values from Pascal’s Triangle as coefficients.

(x —2)' = 1x°(=2)" + 3x*(—2)" + 3x'(—2)" + 1x°(—2)°
Step 3 Simplify.

(x—2=x"—6x*+12x—8
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Use the Binomial Theorem to expand (x — y)* Pg. 344

Pg 348 #14
Use the binomial theorem to expand (4x + 3y@ ?
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'

(%()"%; ((’(KX "l\(X“[)() e

X

Find the fifth term the expanded form of (6x +8)’

Pg 348 #18
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